GSE Algebra 1 5.1 - Substitution Name:

How Do You Solve a System of Equations by Substitution?

3x+2y =10
2x—y=9

1%*: Choose one equation and solve for x or y.

FrOs Y s

274: Substityt€ the expression from that equation into the other
equation and solve.
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3™ Substitute the value found in step 2 back into the equation
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4**: Write the solution as an ordered pair.
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Solve the following systems using substitution. Z
1. y=4x—9 =

y=x—3
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5. Word problem I e
Mrs. Flips sold 300 cookies for her bake sale. She sold two types of cookies: large chocolate chip and small

peanut butter cookies. She-cha ged $1 for the chocolate chip and 50-cents for the peanut butter cookies and

collected $270 total ({ Wf & ﬁ Type did she sell?

g ) Ly=36—> X Eoo:j
_fPean\}\—b(H—\eIL cw €S l)(+§50\\j*2:'lo ’__

10. =270

l@w:\i)%w 5305 770 7%?3: '39 ] %= 240 dwco d\\ﬂ

-300

6. Word problem

Paco’s Tacos sold 280 food |tems fropa=itssmgbile unit. Only tacos iéé gach[ and burritos ($3 each) were
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available. It took in $660 in sale >
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